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1.2 Order of Operations with Integers

BEDMAS

Brackets

-

Exponents

Division and Multiplication

CLASSIC PEANUTS Charles Schulz

Addition & Subtraction

YOU'VE TIED YOUR OWN
SHOES, RERUN 600D FOR YYoU

NOW, OF COURSE, THERE'S
ONE OTHER THING...

THE SOCKS 60 ON
BEFORE THE SHOES..
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Order Matters

Example 1: Evaluate. (Means to calculate a numerical answer)

b) (5+2) x 3

a)5+2x3
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Communication:

- align equal signs vertically
- one equal sign per line
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Example 3:

d)

Evaluate each expression.
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Example 4: Evaluate each of the expressions below. Write the sum of the

answers in the box in the middle.

b) (-4)x2-3x(2-3)

= a2) = 31D
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a) (-7)=(5) - [4«(>3)]
= -2 +5 -(4-3)

= -2 - i
= -3
c) (-2)x8+(-4) l é Id) —2x(-5+(-12)+3)-2°
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ALWAYS, ALWAYS, ALWAYS
SHOW ALL WORK!




